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begin integer I, N, X, FX, J, M, XUP, P2,Q2,
KI, X0, IREV, WS;

1 ERROR, ROOT, EPS;

N, AUV L, LTS

integer array A, B, H[0:10], K[0:20];
procedure POLY ;
begin for I:=1 step 1 until N do
B(I]: =X*B[I—-1]+H[I1;
FX:=B[N]
end;

procedure SYNDIV ;

begin CRLF(1); PRINTSTRING(‘SYNTHE’);
PRINTSTRING (‘ TIC DI*);
PRINTSTRING(‘ VISION *); CRLF(2);
for J: =1 step 1 until N do

begin for I:=1 step 1 until M do
H{I}:=H[I-1]+X+H[I];
M:=M-1
end
end ;

procedure UPPER;
begin integer MAX;
real SF, FH, QH; array FHH[0:10];
MAX:=0; SF:=0.0; FH: =FLOAT(H[0D);
for I: =0 step 1 until N do
FHH[I]:=FLOAT(H[I])/FH;
for I:=0 step 1 until N do
begin QH:=FHH[I];
if QH=0 then SF:=SF+QH
else begin XUP:=1+FIX(ABS(QH)/SF);
if MAX<XUP then MAX: =XUP

end
end;
XUP:=MAX; CRLF(1);
PRINTSTRING(* XUP="');

PRINTINTEGER(XUP) ; CRLF(1);
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end;

procedure FRACTION;

begin integer PO, P1, QO0, Q1; real FQ2;

CRLF(1); PRINTSTRING(* FRCT");
CRLF (1);
PO:=1; P1:=K[0]; P2:=1;

Q0:=0;Q2:=1; Ql:=1;

for I:=2 step 1 until KI do

begin P2:=P1xK[I—-1]+PO0;
Q2:=Q1xK[I-1]+QO0;
PRINTINTEGER(I) ;
PRINTINTEGER (P 2);
PRINTINTEGER(Q 2); CRLF(1);
P0:=P1; P1:=P2; Q0:=Q1;

Ql:=Q2

end;

FQ2:=FLOAT(Q2);

ROOT:=FLOAT(P2)/FQ2;

ERROR:=1.0/(FQ2+xFQ2);

PRINTSTRING(' ROOT *);

PRINTREAL (ROOT); CRLF(1);

PRINTSTRING(* ERROR *);

PRINTREAL (ERROR); CRLF(1)

end;

procedure REVERSE ;
begin integer TEMP 1, TEMP2;
CRLF(1); PRINTSTRING(‘ REV
CRLF(1);
for I:=0 step 1 until IREV do
begin TEMP 1:=H[I];
TEMP2:=H[N-1];
H[I]:=TEMP2;
H[N-I]:=TEMP1

s

end
end;

procedure LAGRANGE;
begin integer X1, X2, F1, F2, F12, S;
X:=X0; M:=N; KI:=0;
for I:=0step 1 until N do H[I]:=A[I];
REPT: CRLF(1); PRINTSTRING("
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CRLF(1);

K[KI]:=X; M:=N; KI: =KI+1;
SYNDIV; IREV:=(N-—-1)+2; REVERSE;
for I: =0 step 1 until N do

begin PRINTINTEGER(H[I]); CRLF(1)
end;

UPPER;

X1:=XUP; S:=1;

POLY;

F1:=FX; PRINTINTEGER(X 1);

PRINTINTEGER(F 1) ; CRLF(1);

if F1=0 then

begin ERROR:=0.0; go to TEST end;
STEP: X2:=X1+48S; X:=X2;

POLY;

F2:=FX; PRINTINTEGER(X 2);

PRINTINTEGER(F 2); CRLF(1);

if F2=0 then

begin ERROR:=0.0; go to TEST end;

if S>0 then X:=X1 else X:=X2;

if ABS(F 1)=ABS(F 2) then

Fl12:=F1+F2
else F12:=F2+F1;
if F 12<0 then go to CONTINUED;
if ABS(F 1)=ABS(F 2) then
begin F1:=F2;
X1:=X2; go to STEP

RMI:=HMT: X: =X
DV =205 A=A
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end;
if S>0 then
begin S:=-S; X1:=X2; go to STEP
end;
go to COMP;
CONTINUED: FRACTION;
TEST : if ERROR>EPS then go to REPT;
end;

PREP: CRLF(1); SPACE(2);

KI=");
PRINTINTEGER(KI); PRINTINTEGER(X);

PRINTSTRING(‘ CONTIN*);
PRINTSTRING(‘ UED FR’);
PRINTSTRING(* ACTION); SPACE(2);
PRINTSTRING( 1964/5°) ;
PRINTSTRING(‘ H. TODA’); CRLF(2);

START : CRLF(3);
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N:=READINTEGER;
PRINTSTRING(* N=");
PRINTINTEGER(N); CRLF(1);
PRINTSTRING(' AC )="'); CRLF(1);
EPS:=,—9;
for 1:=0 step 1 until N do
begin WS:=A[1]: =READINTEGER;
PRINTINTEGER(WS) ; CRLF(1)

end; CRLF(1);
X 0: =READINTEGER;

CALL: LAGRANGE;
CRLF(1)
PRINTSTRING(‘ ROOT =)
PRINTINTEGER(P 2) ;
PRINTINTEGER(Q 2); CRLF(1);
PRINTREAL(ROOT) ; CRLF(1);
PRINTSTRING(‘ ERROR=");
PRINTREAL(ERROR) ;
go to PREP;

COMP: PRINTSTRING(‘ COMPLE ’); CRLF(1);
go to PREP;

end
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